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Question Paper Specific Instructions

Please read each of the following instructions carefully before aitempling
questions :

There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question / part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate whic}
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the spac
provided. No marks will be given for answers written in a medium other than th
authorized one.

Answers to questions no. 1 to 10 should be in 150 words, whereas answers ta
questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must b|
clearly struck off. ;
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Q3.

Q4.

Q5.

Q6.

Q7.

A § ferem =i, foh qeaehreli= fasprmefia wen 6 Iepsear &1 &1 58 % T §
fara e =i 8, e v =& fag =81 2 (150 w1s2)

How do you justify the view that the level of excellence of the Gupta
numismatic art is not at all noticeable in later times ? (150 words)

geuse ShifSrg fop ney-38nEd wared 1 IR forafed Touam i orn @ e v
gfe o1 | (150 ¥sg)

Clarify how mid-eighteenth century India was beset with the spectre of a
fragmented polity. (150 words)

F1 kR0 o fob IOl Irared] & 37q I 2TA-o7d T 79 Hifvg REmRam
Ud TSI A& & 9fd Usg & favarg & s # omwa 8 U 9 2 (150 vse)

Why did the ‘Moderates’ fail to carry conviction with the nation about
their proclaimed ideology and political goals by the end of the nineteenth
century ? (150 words)

U JEG H IUHATE IV WehA H wfafad Fan-en gwed off ? (150 3ee)
What problems were germane to the decolonization process in the Malay
Peninsula ? (150 words)

qrEr w1 Sl e gt st wd faww o wnee § e ueR e St
@ ? (150 1)

How does the Juno Mission of NASA help to understand the origin and
evolution of the Earth ? (150 words)

“wftieger TataRelE YHTE % STENe, S @ O % o anft oft emfer & 17
fereremm i | (150 71s3)

“In spite of adverse environmental impact, coal mining is still inevitable for
development.” Discuss. (150 words)

Wﬁﬁ%mmmﬁmmwmw%maﬁzmsaﬁ

IS cee 99 =ifea foham = o | (150 )

Mention the advantages of the cultivation of pulses because of which the year
2016 was declared as the International Year of Pulses by the United
Nations. (150 words)
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Q8. TeuT-isa (FrIeER) Afvas Soery wi fhg Jer ywifad st & 2 (150 91s2)
How does the cryosphere affect global climate ? (150 words) _ 1

Q9. WA #ht fafererar & wed #, T ¥- w1 S wehan € fo6 A Fit oM W wiEwHlw
TS 1 T Y& L 3 2 319 giehivr & oI Seretont |fed sror sarse | (150 362)

In the context of the diversity of India, can it be said that the regions form
cultural units rather than the States ? Give reasons with examples for your
viewpoint. (150 words) 1

Q10. AT WG A SSfodt (Ta.2h.) % 9fq Hewma # @ wE % forg, a9 g
=1 s 7 g fafies uaet w0 € 2 (150 =)

What are the two major legal initiatives by the State since Independence,
addressing discrimination against Scheduled Tribes (STs) ? (150 words) 1

Q11. EiEwEr vd Y0 it 9T 7 ool Afd I GHY H # 9YRAT 99 F1 T T9F
AfYer @ R, g adEE § ot 78 vk wewgel gt o @ § 1 wfer =
HifSe | (250 v2)

The spirit of tolerance and love is not only an interesting feature of Indian
society from very early times, but it is also playing an important part at the
present. Elaborate. (250 words) 1

Q12. vy hifse o afEfes g # yeeafes S 3T % gag 3 fre TR oo
SrefeaEer st {9 =+ feur | (250 91s2)

Examine how the decline of traditional artisanal industry in colonial India
crippled the rural economy. (250 words) 1

Q13. Troch waredt % Fie o & IRy T 1 w@e g F @y g=g ® T AU

IeFl % HE ol IR HIfT | (250 7762)

Highlight the importance of the new objectives that got added to the vision of
Indian independence since the twenties of the last century. (250 words) 1

Q14. HEEERE wevrd § fGfiearsti & wru gasy aon s@s Sg-Emdt yuret i fdem
I | (250 717)

Account for variations in oceanic salinity and discuss its multi-dimensional
effects. (250 words) 1
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20.

Ygiferem Fgrsafal sAevas &9 ¥ %= 9 IEH & %k G Eedd T,
oy o faermasfar eot & | & fafganet st wose Hifve | (250 1s1)

Petroleum refineries are not necessarily located nearer to crude oil producing
areas, particularly in many of the developing countries. Explain its
implications. (250 words)

T B STt w R % of auft duw § sA=cyig AiEwen % uh aweig | A
form yeer aftafda fear i1 gwar 8 2 (250 315e)

In what way can floods be converted into a sustainable source of irrigation and
all-weather inland navigation in India ? (250 words)

ueT TR # @ ol FER A 50 gftwd & sifie SHEEn % w-aiee 1 Ehd
TG SeaTy 1 AersT gugeia e S wehd 8 ? (250 1)

What characteristics can be assigned to monsoon climate that succeeds in
feeding more than 50 percent of the world population residing in Monsoon
Asia ? (250 words)

amyfies Wi #, Afgernst @ deifta ye 199 wrared) 3 W GAR Qe & W
% ®qH 33 % | I Ity # wigenedl & dag g ge iR e w9 ? (250 wss)

The women’s questions arose in modern India as a part of the 19th century

social reform movement. What were the major issues and debates concerning
women in that period ? (250 words)

a7 UG 0 oiifehdT fohE YR STRTReRaT B ®9@id 8 TS, 39l T 3GIEU
TEId A BU TRl Te WIEIETERT o Hed faeT i | (250 ¥55)

Distinguish between religiousness/religiosity and communalism giving one
example of how the former has got transformed into the latter in independent
India. (250 words)

“ger SR % w9 § R walg T U9R & T oAr wi fow §, 9g |

T 3 wrem oft e o d) 8 |7 Sen afgd 39 %Ud 61 gite i | (250 ¥55)

“The growth of cities as I.T. hubs has opened up new avenues of employment,

but has also created new problems.” Substantiate this statement with

examples. (250 words)
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